Division par Puissances de Dix (B)

Trouvez chaque quotient.

99 - 100 = 85+ 10 =
43 +-100 = 58 -1000 =
11+10= 39 -10 =
70 - 10 = 82 +1000=
16 - 1000 = 2+10=
47 - 10 = 80~ 10 =
69 =~ 1000 = 63+ 10 =
54 +-10 = 85+1000=
74 + 10 = 18 - 100 =
84 - 100 = 83 +1000=
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Division par Puissances de Dix (B) Solutions

Trouvez chaque quotient.

99 - 100 =10,99 85+10=28>5

43 +-100=10,43 58 +~1000=0,058
11+-10=1,1 39+10=39
70+-10=7 82 +1000=0,082
16 +1000=0,016 2+10=0,2

47 +-10=4,7 80-+10=28

69 =1 000 = 0,069 63 +10=16,3

54 +-10=54 85 -+1000=0,085
74 +-10=7,4 18 +-100=0,18
84 +100=10,84 83 +1000=0,083
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